
FITTING INSTRUCTION
Roof Rails Kit

FITTING INSTRUCTION No. LR006608/LR007220 FIT PART No. LR006608/LR007220   Issue No. 3

6H52-550B12-AB/6H52-550B12-BA

ACCESSORIES 

WARNING
Accessories which are not properly fitted can be dangerous. Read the
instructions carefully prior to fitting. Whilst fitting, comply with the
instructions at all times.  If in doubt, contact your nearest Land Rover
Dealer.

ACHTUNG!
Nicht sachgemäß montiertes Zubehör kann gefährlich sein.  Lesen Sie die
Montageanleitung sorgfältig, bevor Sie das Teil montieren. Halten Sie
sich bei der Montage an die Anleitung. Bei Unsicherheiten wenden Sie
sich bitte an Ihren Land Rover Händler. 

AVERTISSEMENT
Les accessoires qui ne sont pas correctement montés risquent d’être dan-
gereux. Veuillez lire soigneusement les instructions avant d’effectuer la
pose. Respectez toujours les instructions en cours de pose. En cas de
doute, consultez votre concessionnaire Land Rover local.

AVVERTENZA
Gli accessori non sistemati come previsto possono essere pericolosi.
Leggere attentamente le istruzioni prima del fissaggio.  Durante il mon-
taggio seguire sempre le relative istruzioni.  In caso di dubbio rivolgersi
al più vicino concessionario della Land Rover.

AVISO
Aquellos accesorios que no hayan sido ajustados debidamente pueden
resultar peligrosos. Lea las instrucciones detenidamente antes de iniciar el
montaje.  Durante el motaje siga las instrucciones en todo momento.  En
caso de duda póngase en contacto con su Concesionario de Land Rover.

ADVERTÉNCIA!
Os Acessórios que não são montados adequadamente podem ser
perigosos. Leia as instruções cuidadosamente antes de montar. Durante a
montagem, obedeça as instruções todo o tempo. Se tiver alguma dúvida,
contacte o Concessionário LandRover mais próximo.

WAARSHCUWING
Accesoires die niet op de juiste wijze zijn gemonteerd kunnen gevaar
opleveren. Lees zorgvuldig de instructies alvorens met de montage te
beginnen. Houd u tijdens de montage te allen tijde aan de instructies.
Neem bij twijfel contact op met de dichtstbijzijnde Land Rover dealer. 

ΠΡ�ΕΙ∆�Π�ΙΗΣΗ
Τα πρ�αιρετικά ε�αρτήµατα π�υ δευ έ��υν τ�π�θετηθεί σωστά
µπ�ρεί να είναι επικίνδυνα. ∆ια�άστε τις �δηγίες πριν
πρ��ωρήσετε στην τ�π�θέτησή τ�υς. Κατά την τ�π�θέτησή,
τηρείτε συνε�ώς τις �δηγίες. Αν έ�ετε �π�ιαδήπ�τε αµφι��λία, 
επικ�ινωήστε µε τ�ν πλησιέστερ� αντιπρ!σωπ� της.

L
A

N
D

 R
O

V
E

R

EINBAUANLEITUNG
Dachlasttragersatz

INSTRUCTION DE MONTAGE
Kit de longerons de toit

ISTRUZIONI PER L'USO
Corredo profilati

INSTRUCCIONES DE MONTAJE
Kit de barras para el techo

INSTRUÇOES DE MONTAGEM
Kit de Trilhos do Tejadilho

MONTAGEHANDLEIDING
Dakrail pakket

�∆ΗΓΙΑ Τ�Π�ΘΕΤΗΣΗΣ
Κιτ Ραγών #ρ�φής



LR006608/LR007220 LAND ROVER

2/12

LR006608/LR007220 LAND ROVER

1/12

x2

x4

x2 x4

x4

M6x38

M6x12

24mm

5mm 4mm

T30

1

The following instructions are valid for both sides of the 
vehicle.

Folgende Anweisungen gelten für beide 
Fahrzeugseiten.
Les instructions suivantes sont applicables aux deux côtés du
véhicule.
Les istruzioni seguenti sono valide per entrambe le fiancate della
Vettura.
Las siguientes instrucciones son válidas para ambos lados del
vehiculo.
As instruções a seguir aplicam-se a ambos os 
lados do veículo.
De volgende instructies zijn van toepassing op 
beide zijden van de auto.
�ι ακ�λ�υθες �δηγίες ισ�ύ�υν και για τίς δύ� πλευρές τ�υ
��ήµατ�ς

2

3



LR006608/LR007220 LAND ROVER

4/12

6

7 8

9

24mm

x2

10

11 12

13

LR006608/LR007220 LAND ROVER

3/12

4

5

x2

14

15

16



LR006608/LR007220 LAND ROVER

6/12

21

24mm4mm

2322

20

24 25

LR006608/LR007220 LAND ROVER

5/12

1918

Henkel Terosan 92 polyurethane seam sealer
Henkel Teroson Terolan special brushable seam sealer
Henkel Terostat 1k PU seam sealer (SE20)
3M Drip Chek heavy 08531
Loctite (Henkel Terosan) Terostat 9100 1K PUR
Loctite (Henkel Terosan) Terostat 9120 MS Polymer adhesive sealant
Loctite (Henkel Terosan) Terostat 9200 1K PUR

✔

26

22Nm

27

17



35

34

LR006608/LR007220 LAND ROVER

8/12

29 30

✔
31

LR006608/LR007220 LAND ROVER

7/12

36

37

0Nm
x1 M6x12

3938

28

32

33



47

LR006608/LR007220 LAND ROVER

10/12

1

1

2

44

142 43

1

2

✔ ✘

45

46

48

49 50

LR006608/LR007220 LAND ROVER

9/12

x2
0Nm

54

x2
0Nm

5251

12

53

12Nm1

12Nm2

12Nm3

41

0Nm
x2 M6x38

40



LR006608/LR007220 LAND ROVER

12/12

LR006608/LR007220 LAND ROVER

11/12

12

9 3

6

8 HRS
✘

59

1.83m

60

✘✔

58

57

55

12Nm 5mm

56

Z3Vlc3Q7MjAyNS0wNy0yMVQwODozODoxOC4wODdaOzIxNi43My4yMTcuMTA7


